WHAT KIND OF ANGLE NEVER QUITS?

In order to solve the part specified,

match each picture with an appropriate version of the Law of Sines or Cosines.
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. m«£LC =180 - (MmZLA + m«LB)

mZA + mzZB + mZC =180

a2 =b?+ c?—-2bccosA

. a=\ b2+c2—2bccosA

Not enough information to
insure a unique solution
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first find mZC, then

b* =a*+c*-2accosB

sin A sin B

= _-_° a’+c* - b
sinA sinC cosB=————-2-—————- a_bsinA
S csin A ac sin B
] sinC
4 3 9 7 2 8 | 6
Activity 45

© Carolina Biological Supply Company

www.carolina.com



